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H H LIX BMX. BCX.
HEAL (%) 21,0 BLL 21.5 LI 22.0 BLL
HUEN (%) 2.0 Bk 4.0 ok 1.0 b
ki (%) 6.0 LIF 5.0 F 5.0 MLF
HLRSY (%) 8.0 LIF 7.0 BUF 8.0 UF
AT A (%) 0.70 Ll 0.70 Lk 0.80 Ll
v (%) 0.55 BLE 0.45 Ll 0.60 LIl
ME (Kcal/kg) 2,900 DAL 3,090 LI I 3,050 DI L
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LIX BMIX. BCIX. LIX BMIX. BCIX.
AR (g) 1, 004 923 990 927 885 926
fil o} 2 R R 1.72 1.72 1.56 1.78 1.74 1.67
# 3 R
HE LIX BMX BCIX.
e BERENIEEES (%) 1.24 = 0.15 1.34 =+ 0.17 1.40 =+ 0.07
i EA (%) 1.96 + 0.08 a 2.12 + 0.13 a 1.55 =+ 0.07
& (cm) 106 =+ 2.0 104.1 =+ 4.2 111.4 =+ 3.7
e JEENIEEE (%) 1.67 =+ 0.09 1.65 =+ 0.28 1.51 = 0.09
EEE (%) 2.06 + 0.10 a 2.26 + 0.13 a 1.64 = 0.09
W& (cm) 109.7 + 2.1 104.2 + 1.4 112.6 =+ 4.2

S+ YRR
PRI ICR —EHENOREERICHEEZS Y (p<0.05)

(& k4] A Fn ot AR JE BRI 20 il A

R 3 DT S 10 O il 18 A BT O e ST
(A ZE N4 ] FIH 5 28 A B AT o 1) I

CAJF 5% 11 1T ] YRk 29 B~ N 2
(FoeEE 4] FHAELTF, slHE =



